شركة أرامكو السعودية

إدارة التدريب وتطوير الكفاءات

وحدة المناهج الأكاديمية والاختبارات

دليل الاختبارات والقبول
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عزيزي المتقدم
يسر إدارة التدريب وتطوير الكفاءات في شركة أرامكو السعوديه أن تبارك لك النجاح والتفوق في الشهاده الثانويه وأن تقدم هذه المعلومات الإرشاديه وأنت تستعد لأداء إختبارات القبول لبرنامج التدريب الجامعي لغير الموظفين.

تتألف إختبارات القبول لهذا البرنامج من :

1- إختبار تحديد المستوى في اللغة الإنجليزية
2- إختبار تحديد المستوى في الرياضيات

وتعطى جميعها للمتقدمين في يوم واحد
الحد الأدنى المطلوب للنجاح في هذه الإختبارات:

1- الحصول على المستوى الثالث في اللغة الإنجليزية
2-الحصول على المستوى الخامس في الرياضيات

ولا يعني النجاح في الإختبارات ضمان القبول في البرنامج , حيث أن القبول النهائي في البرنامج يعتمد على:

1- العدد المطلوب من قبل أرامكو السعوديه.

2- عدد المتقدمين الذين إجتازوا الإختبارات بنجاح.

وسوف يتم إختيار العدد المطلوب من الناجحين بناء على أفضل أداء في العوامل الآتيه:

1- معدل المواد العلميه في الشهاده الثانويه.

2- درجة إختبار القياس.
3- مستوى المتقدم في إختبار اللغة الإنجليزيه.

4- مستوى المتقدم في إختبار الرياضيات.
يجب الحضور الي مكان الإختبار في اليوم والوقت المحدد لك ويجب إحضارمايلي:
1- بطاقه الأحوال المدنية.
2- بطاقة دخول الإمتحان اللتي حصلت عليها عن طريق موقع الشركه بعد قبول تقديمك الطلب.
لن يكون بمقدور المسئولين عن الاختبار إبلاغك بأي نتيجه وأن النتائج وأي معلومات إضافية سترسل لك عن طريق مكتب التوظيف.
إختبار تحديد المستوى في اللغة الإنجليزية

يهدف هذا الإختبار إلى تحديد مستواك في اللغة الإنجليزية طبقآ للمستويات المعمول بها في شركة أرامكو السعودية.

يتألف هذا الإختبار من 94 سؤالآ لكل سؤال أربع إجابات ويجب إختيار الإجابة الصحيحة وذلك بتظليل الدائرة التي تحوي الحرف الذي يمثل الإجابه الصحيحة في ورقة الإجابة.

ويمنع منعاً باتاً الكتابة أو وضع أي علامة على كتاب الأسئلة.

وسيتم تقويمك بإعطائك درجات على الأسئلة التي أجبت عنها إجابة صحيحة فقط.

على الصفحات التالية إختبار نموذجي قصير مؤلف من 18 سؤالاً مماثلاً لأسئلة اختبار تحديد المستوى في اللغة الإنخليزية ليساعدك في الاستعداد لهذا الاختبار.

يجب حل هذه الأسئلة ثم مقارنة إجاباتك بالإجابات الصحيحة الموجوده في هذا الكتيب.
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STRUCTURE

DIRECTIONS:
Read the sentence.




Choose the correct answer.




Blacken A, B, C, or D on your answer sheet.

1. I _________ a cup of coffee every morning.

a. are drinking

b. drink

c. drinks

d. is drinking

2. Mousa finished _________ the report last week.

a. writing

b. written

c. writes

d. wrote

3. Do you know the person ________ house burned down?

a. whom

b. who

c. which

d. whose

VOCABULARY

DIRECTIONS:
Read the sentence.




Choose the correct answer.




Blacken A, B, C, or D on your answer sheet.

4. Kamel ________ to exercise, but he didn’t lose much weight.

a. clicked

b. forgot

c. continued

d. improved

5. The operator ________ the computer with a piece of plastic.

a. checked

b. covered

c. reminded

d. divided

6. Saudi Aramco _________ its employees with bus transportation.

a. supplies

b. requests

c. monitors

d. introduces

VOCABULARY IN CONTEXT

DIRECTIONS:
Read the passage.




Choose the correct answer.




Blacken A, B, C, or D on your answer sheet.

7. The supervisor apportioned blame for the accident. He said that three of the workers had failed to make the necessary safety checks and he blamed the three men equally.

Apportioned means:

A. took

B. received

C. produced

D. divided

8. Abdullah is a very meticulous worker. He checks every job he does twice to be sure his work is not bad.  However, because he is so careful about his work, he is not a very fast worker. He sometimes takes a very long time to do a simple job.

Meticulous means:

A. fast 

B. simple

C. careful

D. bad

9. Some parts of the world receive a lot more precipitation each year than others do. For example, it rains a lot more frequently in England than it does in Egypt. In general, Egypt has a hot, dry climate, while England has a cool, rainy one.

Precipitation means:

A. rain

A. heat

B. dryness

C. cold

READING

DIRECTIONS:
Read the passage.




Read the sentence.




Choose the correct answer.




Blacken A, B, C, or D on your answer sheet.

Some stars are so far away from earth that no one knows their distance. But how far away are the nearest stars?

The sun is the nearest star. The distance from the sun to the earth is about 150,000,000 kilometers.  Light travels at the rate of 300,000 kilometers a second. Therefore, it takes about eight minutes for light from the sun to reach the earth.

After the sun, the nearest stars to the earth are Proxima Centauri and Alpha Centauri.  Their distance from the earth is 270,000 times greater than the distance from the sun to the earth.  It takes their light four and a half years to reach the earth.

Because even the nearest stars are so far away, a unit for measuring the distance to stars was developed. The unit is called a light-year. A light-year is the distance that light travels in one year. This is about ten trillion kilometers (10,000,000,000,000). The distance to Alpha Centauri and Proxima Centauri is four and a half times that amount.

Only about 6,000 stars can be seen from earth without a telescope, a device to help us see objects that are far away. Alpha Centauri and Proxima Centauri are two of these stars. They are both easily seen in the night sky.

10. The _________ is the unit used to measure distances to the stars.

A. year

B. second

C. kilometer

D. light-year

11. Light from Alpha Centauri reaches the earth in _______.

A. four and a half years

B. one year

C. eight minutes

D. one hour

12. It is possible to see about _________ stars without a telescope.

A. 300,000

B. 6,000

C. 270,000

D. 150,000,000

READING

13. Alpha Centauri ________.

A. can be seen without a telescope

B. cannot be seen from the earth

C. is the nearest star to the earth

D. is 150,000,000 kilometers from earth

14. What is the best title for this passage?

A. The Nearest Stars to the Earth

B. Stars That Can Be Seen Without a Telescope

C. Travel at the Speed of Light

D. Proxima Centauri

READING

DIRECTIONS:
Read the passage and the chart.




Read the sentence.




Choose the correct answer.




Blacken A, B, C, or D on your answer sheet.


Greece is a country in southeastern Europe, on the northern coast of the Mediterranean Sea. Almost four thousand years age, people living in that region learned how to build ships that were strong enough to travel long distances. After that, a lot of trade took place. The people of Greece began importing and exporting a variety of products. Greece became very organized and powerful and affected a large part of the world.


After many years, however, other countries took control of the region, and Greece lost most of its power. Today, Greece is one of the least developed countries in Europe, but it still carries on foreign trade. Every year, Greece imports products worth a total of about 12 billion dollars and exports products worth about 6 billion dollars. Many different products are imported and exported. The graphs below show the five main products that are imported into Greece and the five main products that are exported. The graphs also show the value of these products.

GREECE’S FOREIGN TRADE
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15. By reading the passage, you can find out that the value of Greece’s total imports is about _________ billion dollars per year.

A. 12

B. 2

C. 4

D. 6

16. According to the graph, Greece imports ________ million dollars’ worth of aircraft annually.

A. 90

B. 180

C. 40

D. 70

17. What is the third most valuable product imported into Greece?

A. petroleum

B. motor vehicles

C. meat

D. wheat

18. Greece exports an equal dollar amount of __________.

A. tobacco and ships and boats

B. wheat and tobacco

C. cotton and wheat 

D. aluminum and cotton

تعليمات وإرشادات

اختبار تحديد المستوى في الرياضيات

اختبار تحديد المستوى في الرياضيات

يهدف هذا الاختبار إلى قياس مستواك في الرياضيات طبقاً للمستويات المعمول بها في شركه أرامكو السعودية.

يتألف هذا الاختبار من 40 سؤالاً في الجبر وحساب المثلثات والتفاضل والتكامل وقد صممت هذه الأسئلة لتكون مماثلة لما درس في المرحلة الثانوية ولا تحتاج إلى آلة حاسبة لحلها, وكما في اختبار اللغة الإنجليزية, فإن هذا الاختبار مصمم بطريقة اختيار الاجابة الصحيحة حيث يوجد لكل سؤال أربع اجابات ويجب إختيار الاجابة الصحيحة وتظليل الحرف الذي يمثلها في ورقة الإجابة.

يمنع منعاً باتاً الكتابة أو وضع أي علامة على كتاب الأسئلة وسيتم تزويدك بورقة مسودة.

يقدم هذا الاختبار باللغة العربية وهناك نسخة مماثلة باللغة الإنجليزية ويمكنك إختيار النسخة الإنجليزية وذلك بالطلب قبل بدء الاختبار.

وهذه بعض الأسئلة النموذجية للمساعده في الإستعداد لهذا الإختبار.

يجب حل هذه الأسئلة ثم مقارنة إجاباتك بالإجابات الصحيحة الموجوده في هذا الكتيب.

أسئلة نموذجية لامتحان تحديد المستوى في الرياضيات

1. إضرب (3س ص )(4س2 ص)
A) 7 س2 ص2
B) 12 س3 ص2
C) 12 س2 ص

D) 7 س3 ص2 








2. أوجد قيمة (3ص)2 عندما ص = 4 
A) 72
B) 144
C) 24
D) 36

3. مستطيل طوله أقل من ضعف عرضه بمقدار 3 بوصات ومحيطه 24 بوصة. أوجد عرض المستطيل.
A) 9 بوصات
B) 7 بوصات
C) 15 بوصة
D) 5 بوصات
4. حل المعادلة :    
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A) 4
B) 8
C) 16
D) 
[image: image4.wmf]1
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5. غادر قطاران نفس المحطة في وقت واحد، أحداهما يتجه شمالاُ بسرعة 160 كلم / الساعة والآخر يتجه جنوباً بسرعة 140 كلم / الساعة. بعد كم ساعة تكون المسافة بينهما 900 كلم.
A) 1
B) 2
C) 3
D) 4
6. تتغير شدة التيار الذي يمر في مقاومة ما تغيراً طردياً مع فرق الجهد المطبق عليها. إذا كانت شدة التيار 16 أمبير عندما يكون فرق الجهد 110 فولت. أوجد شدة التيار عندما يكون فرق الجهد 220 فولت.
A) 
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  أمبير
B) 
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  أمبير
C) 8 أمبير
D) 32 أمبير
7. بسط :   
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B) 
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C) س5  ص
D) س9 ص5
8. للمعادلة س2 
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 8 س  
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 14 = 0
A) جذران حقيقيان
B) جذران تخيليان مترافقان
C) جذر حقيقي واحد
D) جذر حقيقي وآخر تخيلي
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10. أوجد قيمة س في نظام المعادلتين   3 س + 5 ص = 1
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C)  2 
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11. أوجد قيمة س في المعادلة 9س+ 2 = 27
A) 
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B) 
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C)   2 
D) 
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12. أوجد معادلة المستقيم الذي يمر بالنقطة (
[image: image23.wmf]-

2 ، 2 ) ويكون عمودياً على المستقيم الذي معادلته ص =  
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A) ص = 
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B) ص = 
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C) ص =  3 س +  4
D) ص =   3 س +  8

13. أوجد معادلة الدائرة التي نصف قطرها 5 وحدات ومركزها النقطة ( 3 ، 
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4)

A) س2 + ص2 + 6 س + 8 ص = 50
B) س2 + ص2 
[image: image31.wmf]-

6 س + 8 ص = 25

C) س2 + ص2 
[image: image32.wmf]-

6 س + 8 ص = صفر
D) س2 + ص2+ 6 س + 8 ص = صفر
14. أوجد الحد الخامس لمتتابعة هندسة حدها الأول 27 وأساسها  
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15. إذا كان جا هـ = 
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A) 1 
B) ظاهـ
C) ظتاهـ
D) جاهـ
17.   أوجد المشتقة الأولى للدالة د (س) =  
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18.   أوجد     
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   إذا كان ص =  e جتا س
A) e جتا س  جا س
B) 
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20.   أوجد المساحة المحصورة بين المنحنى ص = 3 س2 + 4 س 
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 5 
         والمستقيمين س = 1 ، س = 2 ومحور السـينات
A) 13 وحدة مربعة
B) 8 وحدات مربعة
C) 4 وحدات مربعة
D) 2 وحدة مربعة
21.   أوجد حل المعادلة المثلثية 4جاس 
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22.    إذا كان ظاهـ = 
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24.   يتحرك جسيم على خط مستقيم بدءاً من نقطة الأصل عند اللحظة ن = صفراً بسرعة

        ع = 6ن 
[image: image68.wmf]-

 1 أوجد المسافة التي يقطعها الجسيم خلال المدة من  ن = 2 إلى ن = 5.

A) 80 وحدة طول
B) 60 وحدة طول

C) 18 وحدة طول

D) 40 وحدة طول

ـــ   انتهت الأسئلة  ـــ
الإجابات الصحيحة للأمثلة

                             




                                                الإجابات الصحيحة        
                              



	رقم السؤال
	الرياضيات
	الإنجليزي

	1
	B
	B

	2
	B
	A

	3
	D
	D

	4
	C
	C

	5
	C
	B

	6
	D
	A

	7
	B
	D

	8
	A
	C

	9
	B
	A

	10
	C
	D

	11
	B
	A

	12
	D
	B

	13
	C
	A

	14
	A
	A

	15
	C
	A

	16
	D
	D

	17
	C
	C

	18
	B
	C

	19
	A

	20
	B

	21
	A

	22
	D

	23
	D

	24
	B


9.    حل المعادلة ص � EMBED Equation.DSMT4  ���      ص  � EMBED Equation.DSMT4  ��� 6 = 0





 16.   بسَط :                                         =  ؟





            جا 2هـ


جا هـ  ظتا هـ  +  جتا هـ





 1





19.   احسب       ( س3 � EMBED Equation.DSMT4  ��� 4) � EMBED Equation.DSMT4  ��� س





2





؟





جا هـ  +  جتا هـ                           


 جتا هـ � EMBED Equation.DSMT4  ��� جا هـ





23.   أوجد نهــــــــــــــــــــا


                  � EMBED Equation.3  ���    


 





  3س2 + 2


    س + 4 





B)      +     3 





   D)       � EMBED Equation.DSMT4  ���     3 
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